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o

Co
O

name: <unnamed>
log: D:\Jason\workshop\long format datal\event.log
log type: text
pened on: 6 Nov 2023, 11:13:43

use "D:\Jason\workshop\long format data\command long.dta", clear

des

ntains data from D:\Jason\workshop\long format data\command long.dta

Va

So

bservations: 18
Variables: 6 27 Feb 2017 09:13
riable Storage Display Value
name type format label Variable label
byte %$10.0g id
ar int %$10.0g year
nth byte %$10.0g month
rst byte $10.0g marst
X byte %$10.0g sex
e byte %$10.0g age
rted by:

list, sepby(id)

B et et P +
| id year month marst sex age |
| === \
1. | 1 2010 1 6 1 35 |
2. ] 1 2010 2 6 1 35 |
3.1 1 2010 3 6 1 35 |
4. | 1 2010 4 1 1 36
5. 1 1 2010 5 . 1 36 |
6. | 1 2010 6 1 1 36
== \
7.1 2 2010 1 6 2 30 |
8. | 2 2010 2 6 2 30 |
9. | 2 2010 3 1 2 30 |
0. | 2 2010 4 1 2 30 |
1. 1 2 2010 5 4 2 30 |
2.1 2 2010 6 9 2 30 |
3.1 2 2010 7 9 2 31 |
4. | 2 2010 8 9 2 31 |
5. | 2 2010 9 1 2 31 |
6. | 2 2010 10 1 2 31 |
7.1 2 2010 11 1 2 31 |
8. | 2 2010 12 1 2 31 |
B et et P +

*hkkkkkkkkkkkkk

* Sort data

*hkkkkkkkkkkkkk

sort id year month

KA A AR A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR XA XA AKX KKK

* Create an indicator variable for each timepoint within the person
KA AR A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AKX KKK

by id: gen time = n
label variable time "time points"

KA kAR A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR XA AKX KKK

*Calculate the total number of records per person
KA AR A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR A A A AR AR AKX KA KKK

by id: gen t_time = N

label variable t_time "total time points"

list, sepby(id)
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B e it +
| id year month marst sex age time t time |
| = e T \
1. 1 1 2010 1 6 1 35 1 6
2. 1 1 2010 2 6 1 35 2 6
3.1 1 2010 3 6 1 35 3 6
4. | 1 2010 4 1 1 36 4 6
5. | 1 2010 5 . 1 36 5 6
6. | 1 2010 6 1 1 36 6 6
s ittt |
7.0 2 2010 1 6 2 30 1 12 |
8. | 2 2010 2 6 2 30 2 12
9. | 2 2010 3 1 2 30 3 12 |
10. | 2 2010 4 1 2 30 4 12
1. | 2 2010 5 4 2 30 5 12 |
2. | 2 2010 6 9 2 30 6 12
3. | 2 2010 7 9 2 31 7 12 |
4. | 2 2010 8 9 2 31 8 12
5. | 2 2010 9 1 2 31 9 12 |
16. | 2 2010 10 1 2 31 10 12
17. | 2 2010 11 1 2 31 11 12 |
8. | 2 2010 12 1 2 31 12 12 |
o +
KA AR A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR A A A A A AR A AR AR KKK KK
* Check whether each record is a unique one
KA AR A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AR A A A A A A AR AR AR KA KK KK
duplicates report id year month
Duplicates in terms of id year month
Copies | Observations Surplus
__________ +___________________________
1] 18 0
KA AR AR A A A A AR A A A A A A A A A A A A A A A A A A A AR A AR AR A A A A A AR AKX KK
* Reshape data: from long format to wide format
KA AR A AR AR A AR A A A A A A A A A A A A A A A A A A A AR A AR A A A A A AR AR A AR KK
. reshape wide year month marst sex age t time, i(id) j(time)
(j = 1234567891011 12)
Data Long -> Wide
Number of observations 18 -> 2
Number of variables 8 -> 73
j variable (12 wvalues) time -> (dropped)
x1j variables:
year -> yearl year?2 yearl2
month -> monthl month2 monthl2
marst -> marstl marst2 marstl2
sex -> sexl sex2 sex12
age -> agel age2 agel2
t _time -> t timel t time2 t timel2
order id year* month* marst* sex* age* t time*
list year* if id ==
e +
| yearl year?2 year3 year4 year5 yearo6 year’7 years8 year9 yearlO yearll yearl2 |
| = e !
1. | 2010 2010 2010 2010 2010 2010
e +
list month* if id ==
o +
| monthl month?2 month3 month4 month5 month6 month7 month8 month9 monthl0 monthll monthl2 |
e \
1. | 1 2 3 4 5 6
o +

list marst* if id ==
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e +
| marstl marst2 marst3 marstd marst5 marst6 marst’7 marst8 marst9 marstl0 marstll marstl2 |
| === T T ——— \

1. 6 6 6 1 1
e +
list sex* if id ==
e +
| sexl sex2 sex3 sex4 sex5 sex6 sex7 sex8 sex9 sex10 sexll sex1l2 |
|-m7= |
1 | 1 1 1 1 1 1 |
e +
list age* if id ==
e +

list t_time* if id ==1

o
| t timel t time2 t time3 t time4d t_timeb t time6 t time7 t time8 t time9 t timelO t timell t
‘ __________________________________________________________________________________________________________________
1. | 6 6 6 6 6 6
o
list year* if id ==
o +
| yearl year2 year3 year4 year5 year6 year’7 years8 year?9 yearlO yearll yearl2 |
[ = \
2. | 2010 2010 2010 2010 2010 2010 2010 2010 2010 2010 2010 2010 |
o +

2. 1 2 3 4 5 6 7 8 9 10 11 12
o +
list marst* if id ==
o +
| marstl marst2 marst3 marsté marsth marsto marst’ marst8 marst9 marstl0 marstll marstl2 |
=== T o= |
2. 6 6 1 1 4 9 9 9 1 1 1 1
o +
list sex* if id ==2
o +
| sexl sex?2 sex3 sex4 sex5 sex6 sex’7 sex8 sex9 sex10 sex11 sex12 |
=== |
2. 2 2 2 2 2 2 2 2 2 2 2 2 |
o +
list age* if id ==2
o +

list t time* if id ==2

hhkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhhkhkkkhkkk
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* Reshape data: from long format to wide format
hhkhkhkhkhkhkhkhkhhkhkhkkhhkhkhhkhkrhkhkhkhhkhkhrhkhkkhhkkhkhkhkhkrkhkhrhkhkhkhrkhxkhxkx

reshape long year month marst sex age t_time, 1i(id) Jj(time)
(j =123456 7891011 12)

Data Wide -> Long
Number of observations 2 -> 24
Number of variables 73 -> 8
j variable (12 values) -> time
xij variables:
yearl year2 ... yearl2 -> year
monthl month2 ... monthl2 -> month
marstl marst2 ... marstl2 -> marst
sexl sex2 ... sexl2 -> sex
agel age2 ... agel2 -> age
t_timel t time2 ... t_timel2 -> t_time
list, sepby(id)
+ _______________________________________________________
| id time year month marst sex age t time
‘ _______________________________________________________
1. | 1 1 2010 1 6 1 35 6
2.1 1 2 2010 2 6 1 35 6
3.1 1 3 2010 3 6 1 35 6
4. | 1 4 2010 4 1 1 36 6
5. | 1 5 2010 5 . 1 36 6
6. | 1 6 2010 6 1 1 36 6
7.1 1 7
8. | 1 8
9. | 1 9
10. | 1 10
1. | 1 11
2. | 1 12
‘ _______________________________________________________
13. | 2 1 2010 1 6 2 30 12
4. | 2 2 2010 2 6 2 30 12
15. | 2 3 2010 3 1 2 30 12
6. | 2 4 2010 4 1 2 30 12
17. | 2 5 2010 5 4 2 30 12
8. | 2 6 2010 6 9 2 30 12
19. | 2 7 2010 7 9 2 31 12
20. | 2 8 2010 8 9 2 31 12
21. | 2 9 2010 9 1 2 31 12
22. | 2 10 2010 10 1 2 31 12
23. | 2 11 2010 11 1 2 31 12
24. | 2 12 2010 12 1 2 31 12
+ _______________________________________________________

drop if t time ==.
(6 observations deleted)

list, sepby(id)

o ___
| id time year month marst sex age t time
‘ _______________________________________________________
1. ] 1 1 2010 1 6 1 35 6
2. 1 1 2 2010 2 6 1 35 6
3.1 1 3 2010 3 6 1 35 6
4. | 1 4 2010 4 1 1 36 6
5. | 1 5 2010 5 . 1 36 6
6. | 1 6 2010 6 1 1 36 6
‘ _______________________________________________________
7.0 2 1 2010 1 6 2 30 12
8. | 2 2 2010 2 6 2 30 12
9. | 2 3 2010 3 1 2 30 12
10. | 2 4 2010 4 1 2 30 12
1. | 2 5 2010 5 4 2 30 12
12. | 2 6 2010 6 9 2 30 12
13. | 2 7 2010 7 9 2 31 12
14. | 2 8 2010 8 9 2 31 12
5. | 2 9 2010 9 1 2 31 12
6. | 2 10 2010 10 1 2 31 12
17. 1 2 11 2010 11 1 2 31 12
8. | 2 12 2010 12 1 2 31 12

Page 4 of 9
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R R R R R R R R

* sort: Arrange data in a special order
R R R R R I

sort id time

list, sepby(id)

B e et L e +
| id time year month marst sex age t time |
s ittt |
1. | 1 1 2010 1 6 1 35 6
2.1 1 2 2010 2 6 1 35 6
3.1 1 3 2010 3 6 1 35 6
4. | 1 4 2010 4 1 1 36 6
5. | 1 5 2010 5 . 1 36 6
6. | 1 6 2010 6 1 1 36 6
| === \
7.1 2 1 2010 1 6 2 30 12
8. | 2 2 2010 2 6 2 30 12 |
9. | 2 3 2010 3 1 2 30 12
10. | 2 4 2010 4 1 2 30 12 |
1. | 2 5 2010 5 4 2 30 12
2. | 2 6 2010 6 9 2 30 12 |
13. | 2 7 2010 7 9 2 31 12
4. | 2 8 2010 8 9 2 31 12 |
15. | 2 9 2010 9 1 2 31 12
6. | 2 10 2010 10 1 2 31 12
17. | 2 11 2010 11 1 2 31 12
8. | 2 12 2010 12 1 2 31 12 |
B T e et e +

BRI R R R R R

* Handling the missing value
BRI R R R R

list id time year month marst, sepby(id)

Bt ettt +
| id time year month marst |
|==mmm I
1. | 1 1 2010 1 6
2.1 1 2 2010 2 6
3.1 1 3 2010 3 6
4. | 1 4 2010 4 11
5. | 1 5 2010 5 .
6. | 1 6 2010 6 11
| === \
7.1 2 1 2010 1 6
8. | 2 2 2010 2 6
9. | 2 3 2010 3 11
10. | 2 4 2010 4 1]
1. | 2 5 2010 5 4 |
2. | 2 6 2010 6 9
13. | 2 7 2010 7 9
4. | 2 8 2010 8 9
15. | 2 9 2010 9 11
l6. | 2 10 2010 10 1
17. | 2 11 2010 11 1
8. | 2 12 2010 12 1
o +

gen marst_r = marst
(1 missing value generated)

label variable marst r "recoded marital status"

replace marst r = marst[ n-1] if time ~=1 & marst r ==. & marst_r[ n-1] ~=.
(1 real change made)

list id time year month marst marst r, sepby(id)

B it +

| id time year month marst marst r |

| === !
1. ] 1 1 2010 1 6 6
2. 1 1 2 2010 2 6 6
3.1 1 3 2010 3 6 6
4. | 1 4 2010 4 1 1
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5. | 1 5 2010 5 . 11
6. | 1 6 2010 6 1 1

| == |
7.1 2 1 2010 1 6 6
8. | 2 2 2010 2 6 6 |
9. | 2 3 2010 3 1 1
10. | 2 4 2010 4 1 1
1. | 2 5 2010 5 4 4
2. | 2 6 2010 6 9 9 |
13. | 2 7 2010 7 9 9
14. | 2 8 2010 8 9 9 |
15. | 2 9 2010 9 1 1
16. | 2 10 2010 10 1 1
7. | 2 11 2010 11 1 1
8. | 2 12 2010 12 1 1

o +

/************************************

* Code the transition into marriage
The values of marst:

Married, spouse present
Married, spouse absent
Separated

Divorced

Widowed

Never married/single
Widowed or Divorced
NIU

VVVVVVVVVVVYVVYV:
O Jo Ul W -

************************************/
gen ¢ mar =0

label variable c_mar "change into marriage"

by id: replace c_mar = 1 if marst_r[ n-1] >=4 & (marst_r ==1 | marst_r ==2| marst_r ==3 )
(3 real changes made)

list id time year month marst r c mar, sepby(id)

B e +

| id time year month marst_r c mar |

| === e |
1. | 1 1 2010 1 6 0
2.1 1 2 2010 2 6 0
3.1 1 3 2010 3 6 0
4. | 1 4 2010 4 1 1
5. | 1 5 2010 5 1 0
6. | 1 6 2010 6 1 0

| === !
7.1 2 1 2010 1 6 0
8. | 2 2 2010 2 6 0
9. | 2 3 2010 3 1 1
10. | 2 4 2010 4 1 0
1. | 2 5 2010 5 4 0
2. | 2 6 2010 6 9 0
13. | 2 7 2010 7 9 0
4. | 2 8 2010 8 9 0
15. | 2 9 2010 9 1 1
6. | 2 10 2010 10 1 0
17. | 2 11 2010 11 1 0

8. | 2 12 2010 12 1 0 |

B e +

khkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkkxkx

*Create an indicator for the times that respondents entered marriage
hhkhkhkhkhkkhkhkhkhkhkhkhkkhhkhkhkhkhkrkhkhkhkhhkhkhrhkhkhkhhkkhdxkhxkxx

by id: gen i_c mar = sum(c_mar)

label variable i c mar "indicator for the times of entering marriage"

KA KA KA KAAKAAAKAAAAA A A A A AAAAA AR A A AR AR A AR KKK

* Create an indicator for the total number of times of entering marriage"



E:\long format data\event.log
Printed at 09:27 on 11 Dec 2023 Page 7 of 9

hhkkhkkhkhkhkhkkhhkhkhkhkhkhkhhkhkhhkhhkhkhkdkhkhkhkhkhhhkkhkrk
by id: egen s c mar = sum(c_mar)

label variable s_c_mar "indicator for total number of times of entering marriage"

list id time year month marst r ¢ mar i ¢ mar s c mar, sepby(id)

Bt ettt it e TP e +

| id time year month marst_r c mar i ¢ mar s ¢ mar |

| === |
1. | 1 1 2010 1 6 0 0 1
2.1 1 2 2010 2 6 0 0 1
3.1 1 3 2010 3 6 0 0 1
4. | 1 4 2010 4 1 1 1 1
5. | 1 5 2010 5 1 0 1 1
6. | 1 6 2010 6 1 0 1 1

| == !
7.1 2 1 2010 1 6 0 0 2
8. | 2 2 2010 2 6 0 0 2
9. | 2 3 2010 3 1 1 1 2
10. | 2 4 2010 4 1 0 1 2
1. | 2 5 2010 5 4 0 1 2
2. | 2 6 2010 6 9 0 1 2
13. | 2 7 2010 7 9 0 1 2
4. | 2 8 2010 8 9 0 1 2
15. | 2 9 2010 9 1 1 2 2
6. | 2 10 2010 10 1 0 2 2
17. | 2 11 2010 11 1 0 2 2
8. | 2 12 2010 12 1 0 2 2

B ettt et e TP e +

hhkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhhkkkhkkk

*Extract the time when the first marriage took place
hhkhkhkhkhkhkhkhkhhkhkhkkhhkhkhhkhkrhkhkhkhhkhkhrhkhkkhhkhkhkhrhkrkhkhhkhkhkhrkhdkhkhxkhx

. by id: gen time marl = time if c mar ==1 & i c mar ==
(16 missing values generated)

label variable time marl "time for the first marriage"

list id time year month marst r ¢ mar i ¢ mar s c mar time marl, sepby(id)

B ettt e T e +
| id time year month marst r c mar i ¢ mar s Cc mar time m~1 |
=== I
1. | 1 1 2010 1 6 0 0 1
2.1 1 2 2010 2 6 0 0 1
3.1 1 3 2010 3 6 0 0 1 .
4. | 1 4 2010 4 1 1 1 1 4
5. | 1 5 2010 5 1 0 1 1
6. | 1 6 2010 6 1 0 1 1
| === |
7.1 2 1 2010 1 6 0 0 2
8. | 2 2 2010 2 6 0 0 2 .
9. | 2 3 2010 3 1 1 1 2 3
10. | 2 4 2010 4 1 0 1 2
1. | 2 5 2010 5 4 0 1 2
2. | 2 6 2010 6 9 0 1 2
13. | 2 7 2010 7 9 0 1 2
4. | 2 8 2010 8 9 0 1 2
15. | 2 9 2010 9 1 1 2 2
l6. | 2 10 2010 10 1 0 2 2
17. | 2 11 2010 11 1 0 2 2
8. | 2 12 2010 12 1 0 2 2
B ettt e T e +

khkkkkkkhkhkhkhkhkhkhkkkkkkkkkkk

* Expand the time of the first transition into marriage for all records of the individual
khkkhkhkhkhkhkhkhkkkkkhkkkkhkkhkkkkhkkkkk

by id: egen m_time marl = max(time marl)
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label variable m time marl "time for the first marriage"

list id time year month marst r ¢ mar i c mar s_c mar time marl m time marl, sepby(id)

o +

| id time year month marst_r c_mar i_c_mar s_c_mar time _m~1 m_time~1 |

| == o e |
1.1 1 1 2010 1 6 0 0 1 4
2.1 1 2 2010 2 6 0 0 1 4
3.1 1 3 2010 3 6 0 0 1 4
4. 1 1 4 2010 4 1 1 1 1 4 4
5. 1 1 5 2010 5 1 0 1 1 4
6. 1 1 6 2010 6 1 0 1 1 4

ittt I
7.1 2 1 2010 1 6 0 0 2 3
8. 1 2 2 2010 2 6 0 0 2 . 3
9. 1 2 3 2010 3 1 1 1 2 3 3
10. | 2 4 2010 4 1 0 1 2 3
11. 1 2 5 2010 5 4 0 1 2 3
12. | 2 6 2010 6 9 0 1 2 3
13. 1 2 7 2010 7 9 0 1 2 3
4. | 2 8 2010 8 9 0 1 2 3
15. 1 2 9 2010 9 1 1 2 2 3
16. | 2 10 2010 10 1 0 2 2 3
17. 1 2 11 2010 11 1 0 2 2 3
8. | 2 12 2010 12 1 0 2 2 3

o +

khkhkhkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkkkkkkx

* Remove records that occurred after the first transition into marriage
hhkhkhkhkhkhkhkkhkhkhkhkhkkhkhkkhkhkhkhkrkhkhkhkhhkhhkhkhkkhkxkx*k

list id time year month marst r ¢ mar i c mar s_c mar time marl m time marl, sepby(id)

o +

| id time year month marst_r c_mar i_c_mar s_c_mar time _m~1 m_time~1 |

| == e |
1.1 1 1 2010 1 6 0 0 1 4
2.1 1 2 2010 2 6 0 0 1 4
3.1 1 3 2010 3 6 0 0 1 4
4. 1 1 4 2010 4 1 1 1 1 4 4
5. 1 1 5 2010 5 1 0 1 1 4
6. 1 1 6 2010 6 1 0 1 1 4

ittt I
7.1 2 1 2010 1 6 0 0 2 3
8. 1 2 2 2010 2 6 0 0 2 . 3
9. 1 2 3 2010 3 1 1 1 2 3 3
10. | 2 4 2010 4 1 0 1 2 3
11. |1 2 5 2010 5 4 0 1 2 3
12. | 2 6 2010 6 9 0 1 2 3
13. 1 2 7 2010 7 9 0 1 2 3
4. | 2 8 2010 8 9 0 1 2 3
15. 1 2 9 2010 9 1 1 2 2 3
16. | 2 10 2010 10 1 0 2 2 3
17. 1 2 11 2010 11 1 0 2 2 3
8. | 2 12 2010 12 1 0 2 2 3

o +

by id: drop if time > m time marl
(11 observations deleted)

list id time year month marst r ¢ mar i ¢ mar s ¢ mar time marl m time marl, sepby(id)

B e et et it e +

| id time year month marst r c mar i ¢ mar s Cc mar time m~1 m time~1 |

=== |
1. | 1 1 2010 1 6 0 0 1 4
2.1 1 2 2010 2 6 0 0 1 4
3.1 1 3 2010 3 6 0 0 1 . 4
4. | 1 4 2010 4 1 1 1 1 4 4

| === e |
5. | 2 1 2010 1 6 0 0 2 3
6. | 2 2 2010 2 6 0 0 2 3
7.1 2 3 2010 3 1 1 1 2 3 3

B et it it TP e +

B R R R R R I I I S

* Save the event history data
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khkhkhkhkhkhkhkhkhkhhkhhhhkhhhkhkhhkhhhkhkhhkkkxk

list id time year month marst r sex age, sepby(id)

o +
| id time year month marst r sex age |
| == \
1. | 1 1 2010 1 6 1 35 |
2. ] 1 2 2010 2 6 1 35 |
3.1 1 3 2010 3 6 1 35 |
4. | 1 4 2010 4 1 1 36
=== \
5. | 2 1 2010 1 6 2 30 |
6. | 2 2 2010 2 6 2 30 |
7.1 2 3 2010 3 1 2 30 |
o +

save "D:\Jason\workshop\long format datal\event.dta", replace
file D:\Jason\workshop\long format datal\event.dta saved

log close
name: <unnamed>
log: D:\Jason\workshop\long format datalevent.log
log type: text
closed on: 6 Nov 2023, 11:13:43



